STA 6127 – Fertility Example (Problem 13.17)

· 3 Groups: Urban Native, Urban Migrant, Rural Migrant

· Response: Fertility = # of live births by woman

· Covariate: Education Level

1) 1-Way ANOVA to Compare 3 Groups (Ignores Education Level)
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Unadjusted means are: 4.13 (U-N), 4.29 (U-M), 6.00 (R-M)


ANOVA

FERT 

 
Sum of Squares
df
Mean Square
F
Sig.

Between Groups
39.256
2
19.628
7.327
.002

Within Groups
131.263
49
2.679
 
 

Total
170.519
51
 
 
 

Reject H0:    (F(2,49)=7.327, P=.002)

SSE = WSS = 131.623

R2 = BSS / TSS = 39.526 / 170.519 = 0.232
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Conclude that ”=””=”

2) Simple Linear Regression Relating Fertility to Education (Ignores Group)

[image: image3.wmf]Model Summary

.592

a

.351

.338

1.488

Model

1

R

R Square

Adjusted

R Square

Std. Error of

the Estimate

Predictors: (Constant), EDUC

a. 


R2 = .351
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Reject H0:  = 0   F(1,50)=27.009,   P=.000
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Fitted Equation: Fertility = 6.357 – 0.265*EDUC
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3) Analysis of Covariance (No Interaction Terms)

Z1 = 1 for U-N, 0 ow  

Z2 = 1 for U-M, 0 ow

Z3 = 1 for R-M, 0 ow

Can only fit models with 2 of these variables at a time when you include intercept term!!!
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4) Analysis of Covariance (Model With Interaction)
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